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Annotations used in the detailed Mark Scheme (to include abbreviations and subject-specific conventions)

Annotation Meaning
Tick

Development of point

incorrect

Irrelevant (material which doesn’t answer the
guestion)

Caret sign to show omission

Opinion

Just/Justification

Good language

Poorly expressed

Past tense correctly used

Future tense correctly used

Present tense correctly used

Accurate language

s
=
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=

Inaccurate language
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Abbreviations Meaning
/ Alternative and acceptable answers for the same marking point
() Words which are not essential to gain the mark

Underlined words must be included to gain the mark

Subject-specific Marking Instructions

You should print out a copy of the paper and work through it yourself (using the transcript for the Listening activities which you can find at the end of
the Mark Scheme, if the audio version is not available on the portal.) You will need a copy of the written texts to refer to during the marking process in
order to spot excessive lifting in tasks 6 and 7. The texts will not appear automatically on your marking screen.
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Mark Scheme

Section A: Listening and Writing

Task/Exercise 1:

Task specific guidance:

June 2017

. Each question will be scanned in individually (questions with more than one element will appear twice/three times as appropriate)
. For single mark questions no annotation is necessary just enter 1, 0 or NR.
. There is no need to use a cross (x) for an answer that is clearly incorrect. Use it when you have had to think and decided not to

award the mark or when a word in the response invalidates an otherwise acceptable answer.
. You may also use the highlighter tool to show harmless additions.
. Answers in Target language get no marks.

. Marks )
Question Answer (6] Guidance

a The teacher had shaved his head. 1

b Because he had lost his hair/had no hair/ One of the students gone 1 Any indication to losing hair.
bold / doesn’t have hair/ fell down/ fell out— their hair had fallen off

c Trees and Flowers / seasons / nature 1

d They stopped teasing (bullying) their classmate./ They want to shave their 1
head./ they had intimidated behavior.

e He was unwell. 1 Any indication to sickness or

treatment
f It did not cure the boy./ sickness/ illness 1
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Task/Exercise 2

Mark Scheme

Task specific guidance:

June 2017

o Each question will be scanned in individually (questions with more than one element will appear twice/three times as appropriate)
o For single mark questions no annotation is necessary just enter 1, 0 or NR.

o There is no need to use a cross (x) for an answer that is clearly incorrect. Use it when you have had to think and decided not to
award the mark or when a word in the response invalidates an otherwise acceptable answer.

o You may also use the highlighter tool to show harmless additions.
o Answers in Target language get no marks.

Question Answer NE;‘;S Guidance

a OO bdaa [y 3 2SS iz alo jla 5233 5l ol ju N 1

b [o30iS) 3 sl Ssel oo dssie | 1
SN e sgmse 06l 6130 ) asr © S podb( @ Sl 3 gl g 1 dea 2ig

c 21 ,32)@ sdu( 1
Jof 30y Ky glhgpia QS aal pu piald @ G p S0 Ligi ) & dil s

A0sSeo gl [ iagasim Seiyia| ]

| SOl b2 Bl 0pde) G pbdcilipdia @ wiay | ]

SR E Gepo [ 3) ) H1CF Liglsz s o4 - 810 4e 5 by 4a 1 [l Gk
) oiss s e 3k D igy
f S 2l )y b il )z 1
Wl puxle Sy seep spldo @ ozl 1
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QoL: Read response again and assess for language.
. Annotations: you may use the underlining tool (--) to show language errors if you find it makes it easier to apply Grid C.2, but it is

not essential.

o Grid C.2: Key words have been highlighted in the Grid. Remember that this grid is also used to assess accuracy at A2. Identify the
band which best matches the performance. If you identified the band without hesitation you must award the higher of the two marks.

GRID C.2 |QUALITY OF LANGUAGE - ACCURACY
10 marks AO3
Characterised by a high and consistent level of accuracy in use of complex structures, although there may be some errors.

9-10

Language generally accurate. Shows a sound grasp of AS (and/or A2) structures, as appropriate. Generally correct use of
7-8 complex structures. Tenses and agreements good, although there may be some inconsistency and errors in more complex
areas.

Shows evidence of fair understanding of grammatical usage. Generally accurate use of simple sentence structures.
5-6 Some correct use of complex sentence structures. The
performance is likely to be patchy and inconsistent.

Evidence of gaps in basic grammar. Frequent errors of an elementary kind (endings, verb forms, gender of common nouns,
3.4 adjectival agreements) but evidence of correct use of
simple sentence structures. Vocabulary and structures may be quite strongly influenced by the candidate’s first language.

Little evidence of grammatical awareness. Persistent, serious and elementary errors
(endings, verb forms, gender of common nouns). Frequent first language interference.
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Section B: Reading and Writing
In Section B there are 10 marks for Quality of Language.

Task/Exercise 3

Question Answer M?7r]ks Guidance
1 - 1
2 P 1
3 o 1 Multi-choice
4 . 1 Marks entered individually. No need for
5 . 1 annotation. Enter 1, O or NR as
i appropriate.
6 Y 1
7 - 1
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Task/Exercise 4

Mark Scheme

June 2017

Question Answer M?g]ks Guidance

a LS i 1

b solld (| 1

¢ B ) 1 1 mark for each correct answer

d @ 5052 ) 1

e oJjss ) 1 The marks are awarded individually.

f o ysee )z 1 No annotations are necessary.

g st e yae)e(| 1

h =0 3 )z ( 1

Task/Exercise5
Question Answer M?F:]ks Guidance

1 o 1 Gap-fill

2 < 1 No annotations are necessary. Enter 1, 0

3 3 1 or NR as appropriate. Ignore misspellings.

4 L 1

5 1 Note:

X Grammatically, all options are possible.

Factually, only one option is correct for
each stem. Options 2 (d) and o= (f) act as
‘distracters’ for 1 and 5 respectively.

10
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Task/Exercise 6

Mark Scheme

June 2017

Question Answer M?Sr]ks Guidance
a L 4 Od)dtﬁf—dy 1
] S gsuilb 51 a8 pla-ale ok dra s J_U“U 1 Sentence completion
BYCSHBBIESUTEE Marks entered individually. No need for
c SISl )10 e Lot s opl S Hadlacls 1 annotation. Enter 1, 0 or NR as
| O3S 3 SpS 3k e - 1 appropriate.
L il Tge&G\ &d&d\&oc - 1

11
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Task/Exercise7

Task specific guidance

o Each question will be scanned in individually (questions with more than one element will appear twice/three times as
appropriate).

o Familiarize yourself with the text and have a copy to hand so that you can easily spot instances of lifting from the original. The text
will not appear on the screen.

o Go through all the responses and assess every question for comprehension.
ad. Marks are awarded on a point by point basis, according to the mark scheme.

b. Minimal (additional) irrelevance can be ignored BUT mindless copying (often long chunks) results in no marks for comprehension or

QoL

C. Forcomprehension/ content, remember that you are a “sympathetic native speaker / sympathetic examiner”. If language interferes
slightly but it is clear that the candidate has understood, give the mark for content / comprehension (unless there is ambiguity or it is
gibberish). Limited ability to use language will be reflected in the mark awarded under grid C2. If appropriate, candidates may answer
with single words / short phrases.

o Annotations:

o Award 1, 0 or NR without annotation.

o Use a tick ([J) to indicate a mark awarded on any question where the answer is more than one mark.
o Use a cross (x) when a word in the response invalidates an otherwise acceptable answer.

o Even if the answer is lifted verbatim from the text, as long as it is a direct answer, award the comprehension mark but highlight and
exclude from Quality of Language assessment.

12
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Task/Exercise 7
Question Answer Marks Guidance
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Task/Exercise 8: Transfer of Meaning

Mark Scheme

June 2017

Question Answer Marks Guidance
[10] Content Levels of response
; : . 3 ward two marks per translate :
nERr -“—’JL:U‘(.S‘-’J@JJ;'\‘-UJ‘-’& Award t k t lated GRIDH.2 TRANSFER OF
1 o TT ; o section according to the grid MEANING
Almost in 2 previous decades for the first time below. This grid assesses Transfer
: : : of Meaning into English. Note that | 2
£ JIGIIAF ddCe Lig 2l )5 2 2 this grid integrates Quality of Accurate transfer of meaning.
) I -.'JLSUA-JJ‘@\LEJJ dcw‘ \éVrittgntCommunication Strand (i) Faultless or virttuaI![y faItIegs
. . . escriptors. grammar, punctuation an
One of the villagers realized the rolling back | spelling in English.
the lake beach Exceptional responses and marks
7 ; . . ¢ to award: 1
“ L i X LAl & : .
s xpuadla & aaia b Bl gy ) 2 Inconsistent transfer of meaning.
Gha I el o plge S S 1. Candidates may answer in Mostly accurate but there are
3 He says at first | understand that water went faultless English but may not | errors and/or missed details.
back for 100 meters and then 200 meters transfer meaning accurately. | There are instances of error in
Award either 0 or 1 mark, grammar, punctuation and
: - p . depending on level of spelling in English.
RS TTS J‘JCW‘CL s g |y 2 inaccuracy in meaning.
Cydgadfizr )ame e lia Li )] * 0
4 I C_j frE =) St e / 2. The transfer of meaning is Very limited transfer of meaning.
After a while, | couldn’t see the beach. After accurate but contains A substantial number of elements
that, no matter how long | stared at the lake significant spelling and/or misunderstood or missing.
that ~ ~ grammar errors. Award O or 1 | Significant error in grammar,
Py s sdaaago i ynala il 2 mark, depending on level of punctuation and spelling in
‘i Jiiﬁ inaccuracy in English. English.
. .

It might come back, it was hopeless and it
never come

14
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Task/Exercise 9

Mark Scheme

June 2017

Question Answer Mz[asr]ks Guidance
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Task/Exercise 10

June 2017

Mar
Question Answer ks Guidance
[7]
slaadyla gl peue [ Gl xRy glaly &
a JeSaglag ag cumS aal A gl e | 1
oL Hiagas S 203 _ _
c osiey @By gl 1 o
— — Marks entered individually. No
d o 3 Giaxd S ool Ol fiadea eSS o ] .
S it S sl ’ S Joum ] yE ,;\ - need for annotation. Enter 1, O or
EEBEENE R O0= 301 )l Camd 2 ol e .
e ' < ™ & ¢ 1 |NR as appropriate.
o5l s
f [23S) 55 jlayde | 1
g 200 S & gpuall 7| 1
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Task1l

Task specific guidance
o Each question will be scanned in individually (questions with more than one element will appear twice/three times as
appropriate).
o Familiarize yourself with the text and have a copy to hand so that you can easily spot instances of lifting from the original. The text
will not appear on the screen.

o Go through all the responses and assess every question for comprehension.

Q

Marks are awarded on a point by point basis, according to the mark scheme.
Minimal (additional) irrelevance can be ignored BUT mindless copying (often long chunks) results in no marks for comprehension or

QoL

f.  For comprehension / content, remember that you are a “sympathetic native speaker / sympathetic examiner”. If language interferes
slightly but it is clear that the candidate has understood, give the mark for content / comprehension (unless there is ambiguity or it is
gibberish). Limited ability to use language will be reflected in the mark awarded under grid C2. If appropriate, candidates may
answer with single words / short phrases.

@

. Annotations:
. Award 1, 0 or NR without annotation.

o Use a tick ([J) to indicate a mark awarded on any question where the answer is more than one mark.
o Use a cross (x) when a word in the response invalidates an otherwise acceptable answer.

o Even if the answer is lifted verbatim from the text, as long as it is a direct answer, award the comprehension mark but highlight
and exclude from Quality of Language assessment.

17
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Task/Exercise 11
Question Answer I\/E%I;s Guidance
ol Laly jyalpa gl d) 1
2 ot LSy i aly i | 1
JJJL\;\Jﬁ%\;\.& [l 3¢ uigk?w ‘)JL)i‘LSﬁ )\@\6JJU§]M@$S Q 1
b fye S asedadlS S b losied Salsa| 1
a0 aho Dllealistaalel )% szsede | 1
G sea Gl oSy )Sa ] gl gialicl o] 1
¢ 0308 e B8 k@ Ly e 360 smde | Sl ia js g 538 Haslinges o813 %032 2
1Se adshag m iy e JoNligee)
| S g sUi el sl sspopalaial g [ iy dsel ) d g aliia g o lHlde sk /e ik pea !
o360 dsad g
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. Assessing Quality of Language across Section B
a. You will get a separate screen which will be the whole page for exercise 4, 5, 6, 7, 9, 10
and 11 (unannotated). Read all the answers again. You may use the green L marking tool to highlight good language to assist
you in the application of Grid C.2. but it is not essential.

b. Apply Grid C.2 and enter the mark.
C. PE to provide specific guidance on which exercises in Section B will provide best evidence for Quality of Language.

GRID C.2

QUALITY OF LANGUAGE - ACCURACY
10 marks AO3

9-10

Characterised by a high and consistent level of accuracy in use of complex structures, although there may be some
errors.

7-8

Language generally accurate. Shows a sound grasp of AS (and/or A2) structures, as appropriate. Generally correct use of
complex structures. Tenses and agreements good,
although there may be some inconsistency and errors in more complex areas.

Shows evidence of fair understanding of grammatical usage. Generally accurate use of simple sentence structures.
Some correct use of complex sentence structures. The
performance is likely to be patchy and inconsistent.

3-4

Evidence of gaps in basic grammar. Frequent errors of an elementary kind (endings, verb forms, gender of common
nouns, adjectival agreements) but evidence of correct use of

simple sentence structures. Vocabulary and structures may be quite strongly influenced by the candidate’s first
language.

0-2

Little evidence of grammatical awareness. Persistent, serious and elementary errors
(endings, verb forms, gender of common nouns). Frequent first language interference.

19
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Task specific guidance

Mark one essay using the grids N, O, C.2 and F.2.

Mark Scheme

June 2017

If a candidate has written more than one essay mark both essays in the normal way but enter the mark for the essay which has earned most

marks over all.

personal response

— applies mainly to imaginative

imaginative

Grid O guidance

argument = more 8/9

Question Indicative Content Marks Guidance
Task12-  INg Indicative Content — [25] Grid N guidance
19

3—4 — No specific example from TL =cap 4

5—6 — Demonstration of originality and/or imagination

6—9 — Straight narration = more 6/7 Evidence of some

7—-8 — Imaginative and/or original response to task — applies mainly to

20
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Task/Exercise 12-19 — Language (QoL) — Grids C.2 and F.2: [20 marks]

Question Answer Marks Guidance
Task 12-  |Assess for Quality of Language [20] Read the whole response again and assess for
19 using Grids C.2 and F.2 Range (Grid F.2) first —i.e. vocabulary and structures. Then assess for
Appendix 1 Accuracy (Grid C.2). Key words have been highlighted in the grids

below. Ignore final sentence of 3-4 band in Grid C.2, because
vocabulary and structures have already been assessed under Grid F.2.
If you wish, you may use the underlining tool (--) to show language
errors if you find it makes it easier to apply Grid C.2, but it is not
essential. Enter your mark.

Grid C.2 guidance

0—2 — Errors ([e.g.] endings, verb forms, gender of common nouns).
Frequent first [= other] language interference.

3—4 — Errors ([e.g.] endings, verb forms, gender of common nouns,
adjectival

agreements).

Candidate’s first [= other] language.

Meaning may be unclear; more wrong than right.

5—6 — Wrong/right = 50/50

7—8 — More right than wrong.

Grid F.2 guidance

5—6 — [A range of] syntax and sentence structures appropriate to the
[register of the] task.
7—8 — Effective = good.
Reads easily.
9-10 — idiom # idioms.

21
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APPENDIX 1
RELEVANCE AND POINTS OF VIEW STRUCTURE AND ANALYSIS
GRID N GRID O
10 marks AO2 15 marks AO2
Consistently relevantinformation that supports The_ response displays genuine control and
9-10 points of view and opinions. Shows genuine insight 13-15 clarity. A very well- developed argument.
in responding to the task. Confident ability to develop an argument,
analyse and evaluate, and draw conclusions.
Relevantinformation thatresponds to the Coherently structured and organised response. Points
7_8 requirements of the task and is used to support 10-12 of view are linked in alogical sequence. Able to
points of view and opinions. Produces an imaginative develop an argument, analyse and evaluate, and
and/or original response to the task. draw conclusions.
The information given is mainly relevant to the Structured and organised response. Points of view
task. Points of view and opinions are generally are mostly linked in alogical sequence. Shows
5-6 . 6-9 )
supported by some factual evidence. May some ability to develop an argument, analyse and
demonstrate some originality and/or imagination. evaluate and draw conclusions.
Includes some relevant information Shows some ability to structure
but does not always address the requirements of and organise the response. Limited ability to develop
the task. May have some difficulty in expressing an argument, analyse and evaluate, and draw
. conclusions.
3-4 points 3-5
of view and/or narrating events and/or
communicating factual
information.
The response to the task is likely to be very short Random organisation of the response. Limited
0-2 and/or irrelevant and/or very superficial. 0-2 attempt to develop an argument, analyse and
evaluate, and draw conclusions.
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QUALITY OF LANGUAGE (ACCURACY) QUALITY OF LANGUAGE (RANGE)
GRID C.2 10 marks AO3 GRIDF.2 10 marks AO3
Characterised by a high and consistent level of Effective and confident use of a wide range of
9-10 accuracy in use of complex structures, although 9-10 vocabulary and idiom with a variety of complex
there may be some errors. sentence structures.
Language generally accurate. Shows a sound Effective use of a range of vocabulary and structures
grasp of AS and/or A2 structures, as appropriate. appropriate to the task, with little repetition. A positive
7_8 Generally correct use of complex structures. 7_8 attempt to introduce variety and to use a range of
Tenses and agreements good, although there complex sentence structures (though not always able
may be some inconsistency and errors in more to maintain correct usage).
complex areas.
Shows evidence of fair understanding of Attempts to extend the range of vocabulary, though
grammatical usage. Generally accurate use of still rather repetitive. Attempts to use more complex
5-6 simple sentence structures. Some correct use of 5-6 language with some success in producing a range of
complex sentence structures. The performance is syntax and sentence structures appropriate to the task.
likely to be patchy and inconsistent.
Evidence of gaps in basic grammar. Frequent Use of a restricted range of vocabulary and
errors of an elementary kind (endings, verb forms, structures. Frequent repetition of the same words and
gender of common nouns, adjectival agreements) phrases. Some attempt (not necessarily successful)
3-4 but evidence of correct use of simple sentence 3-4 at the use of more complex sentence structures.
structures. Vocabulary and structures may be quite
strongly influenced by the candidate’s first
language.
Little evidence of grammatical awareness. Only simple sentence patterns. Very limited
02 Persistent, serious and elementary errors (endings, 02 vocabulary. Very limited range of structures.

verb forms, gender of common nouns). Frequent
first language interference.
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APPENDIX 2

Transcripts of Listening Texts

Task/Exercise 1

[SETTING: Monologue]
(One Male voice)

Exercise 1:
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Task/Exercise 2

[SETTING: CONVERSATION]
(Two female voices)
:2u 4
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	Unit F886:  Persian: Listening, Reading and Writing 2 
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	Mark Scheme for June 
	Mark Scheme for June 
	2017

	OCR (Oxford Cambridge and RSA) is a leading UK awarding body, providing a wide range of qualifications to meet the needs of candidates of all ages and abilities. OCR qualifications include AS/A Levels, Diplomas, GCSEs, Cambridge Nationals, Cambridge Technicals, Functional Skills, Key Skills, Entry Level qualifications, NVQs and vocational qualifications in areas such as IT, business, languages, teaching/training, administration and secretarial skills. 
	 
	It is also responsible for developing new specifications to meet national requirements and the needs of students and teachers. OCR is a not-for-profit organisation; any surplus made is invested back into the establishment to help towards the development of qualifications and support, which keep pace with the changing needs of today’s society. 
	 
	This mark scheme is published as an aid to teachers and students, to indicate the requirements of the examination. It shows the basis on which marks were awarded by examiners. It does not indicate the details of the discussions which took place at an examiners’ meeting before marking commenced. 
	 
	All examiners are instructed that alternative correct answers and unexpected approaches in candidates’ scripts must be given marks that fairly reflect the relevant knowledge and skills demonstrated. 
	 
	Mark schemes should be read in conjunction with the published question papers and the report on the examination. 
	 
	OCR will not enter into any discussion or correspondence in connection with this mark scheme. 
	 
	© OCR 2017 
	 
	Annotations used in the detailed Mark Scheme (to include abbreviations and subject-specific conventions) 
	 
	Annotation 
	Annotation 
	Annotation 
	Annotation 

	Meaning 
	Meaning 

	Span

	 
	 
	 

	Tick 
	Tick 

	Span

	 
	 
	 

	Development of point 
	Development of point 

	Span

	 
	 
	 

	incorrect 
	incorrect 

	Span

	 
	 
	 

	Irrelevant (material which doesn’t answer the question) 
	Irrelevant (material which doesn’t answer the question) 

	Span

	 
	 
	 

	Caret sign to show omission 
	Caret sign to show omission 

	Span

	 
	 
	 

	Opinion 
	Opinion 

	Span

	 
	 
	 

	Just/Justification 
	Just/Justification 

	Span

	 
	 
	 

	Good language 
	Good language 

	Span

	 
	 
	 

	Poorly expressed 
	Poorly expressed 

	Span

	 
	 
	 

	Past tense correctly used 
	Past tense correctly used 

	Span

	 
	 
	 

	Future tense correctly used 
	Future tense correctly used 

	Span

	 
	 
	 

	Present tense correctly used 
	Present tense correctly used 

	Span

	 
	 
	 

	Accurate language 
	Accurate language 

	Span

	 
	 
	 

	Inaccurate language 
	Inaccurate language 

	Span


	Figure
	Figure
	 
	 
	 
	 
	Abbreviations 
	Abbreviations 
	Abbreviations 
	Abbreviations 

	Meaning 
	Meaning 


	/ 
	/ 
	/ 

	Alternative and acceptable answers for the same marking point 
	Alternative and acceptable answers for the same marking point 


	( ) 
	( ) 
	( ) 

	Words which are not essential to gain the mark 
	Words which are not essential to gain the mark 


	 
	 
	 

	Underlined words must be included to gain the mark 
	Underlined words must be included to gain the mark 



	 
	 
	 
	Subject-specific Marking Instructions 
	 
	You should print out a copy of the paper and work through it yourself (using the transcript for the Listening activities which you can find at the end of the Mark Scheme, if the audio version is not available on the portal.) You will need a copy of the written texts to refer to during the marking process in order to spot excessive lifting in tasks 6 and 7. The texts will not appear automatically on your marking screen. 
	 
	Section A: Listening and Writing 
	 
	Task/Exercise 1: 
	 
	Task specific guidance: 
	 
	 Each question will be scanned in individually (questions with more than one element will appear twice/three times as appropriate) 
	 Each question will be scanned in individually (questions with more than one element will appear twice/three times as appropriate) 
	 Each question will be scanned in individually (questions with more than one element will appear twice/three times as appropriate) 

	 For single mark questions no annotation is necessary just enter 1, 0 or NR. 
	 For single mark questions no annotation is necessary just enter 1, 0 or NR. 

	 There is no need to use a cross (x) for an answer that is clearly incorrect. Use it when you have had to think and decided not to award the mark or when a word in the response invalidates an otherwise acceptable answer. 
	 There is no need to use a cross (x) for an answer that is clearly incorrect. Use it when you have had to think and decided not to award the mark or when a word in the response invalidates an otherwise acceptable answer. 

	 You may also use the highlighter tool to show harmless additions. 
	 You may also use the highlighter tool to show harmless additions. 

	 Answers in Target language get no marks. 
	 Answers in Target language get no marks. 


	 
	 
	Question 
	Question 
	Question 
	Question 

	Answer 
	Answer 

	Marks 
	Marks 
	[6] 

	Guidance 
	Guidance 

	Span

	a 
	a 
	a 

	The teacher had shaved his head. 
	The teacher had shaved his head. 

	1 
	1 

	 
	 

	Span

	b 
	b 
	b 

	Because he had lost his hair/had no hair/ One of the students gone bold / doesn’t have hair/ fell down/ fell out– their hair had fallen off 
	Because he had lost his hair/had no hair/ One of the students gone bold / doesn’t have hair/ fell down/ fell out– their hair had fallen off 

	1 
	1 

	Any indication to losing hair. 
	Any indication to losing hair. 

	Span

	c 
	c 
	c 

	Trees and Flowers / seasons / nature 
	Trees and Flowers / seasons / nature 

	1 
	1 

	 
	 

	Span

	d 
	d 
	d 

	They stopped teasing (bullying) their classmate./ They want to shave their head./ they had intimidated behavior. 
	They stopped teasing (bullying) their classmate./ They want to shave their head./ they had intimidated behavior. 

	1 
	1 

	 
	 

	Span

	e 
	e 
	e 

	He was unwell. 
	He was unwell. 

	1 
	1 

	Any indication to sickness or treatment 
	Any indication to sickness or treatment 

	Span

	f 
	f 
	f 

	It did not cure the boy./ sickness/ illness 
	It did not cure the boy./ sickness/ illness 

	1 
	1 

	 
	 

	Span


	Task/Exercise 2 
	 
	Task specific guidance: 
	 
	 Each question will be scanned in individually (questions with more than one element will appear twice/three times as appropriate) 
	 Each question will be scanned in individually (questions with more than one element will appear twice/three times as appropriate) 
	 Each question will be scanned in individually (questions with more than one element will appear twice/three times as appropriate) 

	 For single mark questions no annotation is necessary just enter 1, 0 or NR. 
	 For single mark questions no annotation is necessary just enter 1, 0 or NR. 

	 There is no need to use a cross (x) for an answer that is clearly incorrect. Use it when you have had to think and decided not to award the mark or when a word in the response invalidates an otherwise acceptable answer. 
	 There is no need to use a cross (x) for an answer that is clearly incorrect. Use it when you have had to think and decided not to award the mark or when a word in the response invalidates an otherwise acceptable answer. 

	 You may also use the highlighter tool to show harmless additions. 
	 You may also use the highlighter tool to show harmless additions. 

	 Answers in Target language get no marks. 
	 Answers in Target language get no marks. 


	 
	Question 
	Question 
	Question 
	Question 

	Answer 
	Answer 

	Marks 
	Marks 
	[22] 

	Guidance 
	Guidance 

	Span

	a 
	a 
	a 

	.تسین طلتمخ /جنسیتی کت /.تندسه جدا پسرانه و دخترانه مدارس : لاف 
	.تسین طلتمخ /جنسیتی کت /.تندسه جدا پسرانه و دخترانه مدارس : لاف 

	1 
	1 

	 
	 

	Span

	b 
	b 
	b 

	/روشک )زشومآ( ستایس / ننیاوق: ب 
	/روشک )زشومآ( ستایس / ننیاوق: ب 

	1 
	1 

	 
	 

	Span

	c 
	c 
	c 

	تلافخا عوضوم نیا ی ارهبدر / )یتیسنج تک سردام( بحث این نآمد شیپ از تعجب :پ 
	تلافخا عوضوم نیا ی ارهبدر / )یتیسنج تک سردام( بحث این نآمد شیپ از تعجب :پ 
	/دارند )قهیلس( 
	/نکنند فکر یتیجنس تک مدارس نتداش به  شرفتهیپ اییدن در که شتدا روتص 

	1 
	1 

	 
	 

	Span

	d 
	d 
	d 

	.دنریگیمن جدی را درس / انندوخمی درس کمتر :ت 
	.دنریگیمن جدی را درس / انندوخمی درس کمتر :ت 
	.دنیاین حساب به نهامرد و ندمقدرت / بخورد مهطل تشانرهش به ترسند می 

	1 
	1 
	1 

	 
	 

	Span

	e 
	e 
	e 

	یتهاسنج یهمه /پسرها یا رهاتخد -انناوجنو یهمه -رهاسپ هم و اهرتدخ هم :ث 
	یتهاسنج یهمه /پسرها یا رهاتخد -انناوجنو یهمه -رهاسپ هم و اهرتدخ هم :ث 

	1 
	1 

	جنس /"سرهاپ" فقط 
	جنس /"سرهاپ" فقط 
	.ستین لوقب قابل لافخم 

	Span

	f 
	f 
	f 

	کنونی عناوم )نترف بین از( :ج 
	کنونی عناوم )نترف بین از( :ج 
	نرایا مردم افکار / ومیمع ورهایاب به هجتو 

	1 
	1 
	1 

	 
	 

	Span


	 
	g 
	g 
	g 
	g 

	باید رانیا مدارس /.بماند یتجنسی تک مدارس /.است افقوم ینونک طیشرا با رحس که :چ 
	باید رانیا مدارس /.بماند یتجنسی تک مدارس /.است افقوم ینونک طیشرا با رحس که :چ 
	.بماند لفتمخ 

	1 
	1 

	 
	 

	Span

	h 
	h 
	h 

	گریدکی از مجزا غیر /.ندتسین جدا هم از / ندتسه طومرب هم به :ح 
	گریدکی از مجزا غیر /.ندتسین جدا هم از / ندتسه طومرب هم به :ح 

	1 
	1 

	ار عیومصن سازی جدا 
	ار عیومصن سازی جدا 
	.ستین لبوق 

	Span

	i 
	i 
	i 

	و پسرها شناخت از /.اندسمیر آسیب جامعه به ندهیآ در /.است عیومصن سازی جدا :خ 
	و پسرها شناخت از /.اندسمیر آسیب جامعه به ندهیآ در /.است عیومصن سازی جدا :خ 
	.است جامعه از بخشی مدرسه /دنکمی جلوگیری رهاتخد 

	1 
	1 

	جد هم زا" 
	جد هم زا" 
	.تنیس لوقب لبقا "تندسین 

	Span

	j 
	j 
	j 

	را ریگدمه هسمدر در / .است پسرها و رهاتخد ییانآش برای یبسامن  طیمح  سه مدر در  :د 
	را ریگدمه هسمدر در / .است پسرها و رهاتخد ییانآش برای یبسامن  طیمح  سه مدر در  :د 
	دناسنبش 

	1 
	1 

	با و نظر ریز" 
	با و نظر ریز" 
	"رهاتبزرگ ییامنراه 
	.ستین قبول لبقا 

	Span

	k 
	k 
	k 

	بسانم طیحم/.یدایم ودجو به سازنده و لماس طیحم یک -1 :ذ 
	بسانم طیحم/.یدایم ودجو به سازنده و لماس طیحم یک -1 :ذ 
	داشته اریکمه هم با زانومآشندا که دننکمی کمک /.دارند امنراه و رظان نقش -2 
	.باشند 

	 
	 
	1 
	1 

	 
	 

	Span

	l 
	l 
	l 

	مشاهده :ر 
	مشاهده :ر 
	ارمآ / یارمآ هشوپژ 

	1 
	1 
	1 

	 
	 

	Span

	m 
	m 
	m 

	.شنداب جدا اهپسر و هاترخد :ز 
	.شنداب جدا اهپسر و هاترخد :ز 
	.است رتمک برآنها )ارتظن( رلتنک چون 

	1 
	1 
	1 

	 
	 

	Span

	n 
	n 
	n 

	.شنداب مختلط ها مهانبر نیا که :ژ 
	.شنداب مختلط ها مهانبر نیا که :ژ 
	دنبی می بیآس ندهیآ در عهماج چون /.میکند ادمتاع ادجیا پسرها و دخترها نیب 

	1 
	1 
	1 

	لبقا کنند می پیدا آشنایی 
	لبقا کنند می پیدا آشنایی 
	.ستین لبوق 

	Span

	o 
	o 
	o 

	از یداب باشد رگن آینده اهدوخب رگا /.رداذگمی یرثتأ عهمجا ی دهنیآ در هسردم محیط :س 
	از یداب باشد رگن آینده اهدوخب رگا /.رداذگمی یرثتأ عهمجا ی دهنیآ در هسردم محیط :س 
	ندهیآ در عهماج بودن ریپذ آسیب /.کند شروع مدراس 

	1 
	1 

	 
	 

	Span

	p 
	p 
	p 

	عجولانه /.ندوش تشبردا یدج باید لئمسا نیا/.ندز آب به رگدا یب/ندکر اطییتحا بی :ش 
	عجولانه /.ندوش تشبردا یدج باید لئمسا نیا/.ندز آب به رگدا یب/ندکر اطییتحا بی :ش 
	.ردکن برخورد 

	1 
	1 

	 
	 

	Span


	 
	 
	QoL: Read response again and assess for language. 
	 Annotations: you may use the underlining tool (--) to show language errors if you find it makes it easier to apply Grid C.2, but it is not essential. 
	 Annotations: you may use the underlining tool (--) to show language errors if you find it makes it easier to apply Grid C.2, but it is not essential. 
	 Annotations: you may use the underlining tool (--) to show language errors if you find it makes it easier to apply Grid C.2, but it is not essential. 

	 Grid C.2: Key words have been highlighted in the Grid. Remember that this grid is also used to assess accuracy at A2. Identify the band which best matches the performance. If you identified the band without hesitation you must award the higher of the two marks. 
	 Grid C.2: Key words have been highlighted in the Grid. Remember that this grid is also used to assess accuracy at A2. Identify the band which best matches the performance. If you identified the band without hesitation you must award the higher of the two marks. 


	 
	Table
	TR
	TD
	Span
	GRID C.2 

	TD
	Span
	QUALITY OF LANGUAGE – ACCURACY 
	10 marks AO3 

	Span

	 
	 
	 
	    9-10 

	Characterised by a high and consistent level of accuracy in use of complex structures, although there may be some errors. 
	Characterised by a high and consistent level of accuracy in use of complex structures, although there may be some errors. 

	Span

	 
	 
	 
	 
	7-8 

	Language generally accurate. Shows a sound grasp of AS (and/or A2) structures, as appropriate. Generally correct use of complex structures. Tenses and agreements good, although there may be some inconsistency and errors in more complex areas. 
	Language generally accurate. Shows a sound grasp of AS (and/or A2) structures, as appropriate. Generally correct use of complex structures. Tenses and agreements good, although there may be some inconsistency and errors in more complex areas. 

	Span

	 
	 
	 
	 
	5-6 

	Shows evidence of fair understanding of grammatical usage. Generally accurate use of simple sentence structures. Some correct use of complex sentence structures. The 
	Shows evidence of fair understanding of grammatical usage. Generally accurate use of simple sentence structures. Some correct use of complex sentence structures. The 
	performance is likely to be patchy and inconsistent. 

	Span

	 
	 
	 
	 
	 
	3-4 

	Evidence of gaps in basic grammar. Frequent errors of an elementary kind (endings, verb forms, gender of common nouns, adjectival agreements) but evidence of correct use of 
	Evidence of gaps in basic grammar. Frequent errors of an elementary kind (endings, verb forms, gender of common nouns, adjectival agreements) but evidence of correct use of 
	simple sentence structures. Vocabulary and structures may be quite strongly influenced by the candidate’s first language. 

	Span

	 
	 
	 
	0-2 

	Little evidence of grammatical awareness. Persistent, serious and elementary errors 
	Little evidence of grammatical awareness. Persistent, serious and elementary errors 
	(endings, verb forms, gender of common nouns). Frequent first language interference. 

	Span


	Section B: Reading and Writing 
	 
	In Section B there are 10 marks for Quality of Language. 
	 
	Task/Exercise 3 
	 
	Question 
	Question 
	Question 
	Question 

	Answer 
	Answer 

	Marks 
	Marks 
	[7] 

	Guidance 
	Guidance 

	Span

	1 
	1 
	1 

	پ 
	پ 

	1 
	1 

	Multi-choice 
	Multi-choice 
	Marks entered individually. No need for annotation. Enter 1, 0 or NR as appropriate. 

	Span

	2 
	2 
	2 

	لاف 
	لاف 

	1 
	1 

	Span

	3 
	3 
	3 

	ب 
	ب 

	1 
	1 

	Span

	4 
	4 
	4 

	ب 
	ب 

	1 
	1 

	Span

	5 
	5 
	5 

	ب 
	ب 

	1 
	1 

	Span

	6 
	6 
	6 

	فلا 
	فلا 

	1 
	1 

	Span

	7 
	7 
	7 

	پ 
	پ 

	1 
	1 

	Span


	 
	Task/Exercise 4 
	 
	Question 
	Question 
	Question 
	Question 

	Answer 
	Answer 

	Marks 
	Marks 
	[8] 

	Guidance 
	Guidance 

	Span

	a 
	a 
	a 

	اکپ)لاف( 
	اکپ)لاف( 

	1 
	1 

	1 mark for each correct answer 
	1 mark for each correct answer 
	 
	The marks are awarded individually. 
	No annotations are necessary. 

	Span

	b 
	b 
	b 

	ینادابآ )ب( 
	ینادابآ )ب( 

	1 
	1 

	Span

	c 
	c 
	c 

	ظرفیت )پ( 
	ظرفیت )پ( 

	1 
	1 

	Span

	d 
	d 
	d 

	یهوریب )ت( 
	یهوریب )ت( 

	1 
	1 

	Span

	e 
	e 
	e 

	هژیو به )ث( 
	هژیو به )ث( 

	1 
	1 

	Span

	f 
	f 
	f 

	هارومه )ج( 
	هارومه )ج( 

	1 
	1 

	Span

	g 
	g 
	g 

	میشود حسوبم)چ( 
	میشود حسوبم)چ( 

	1 
	1 

	Span

	h 
	h 
	h 

	ضرورت )ح( 
	ضرورت )ح( 

	1 
	1 

	Span


	 
	Task/Exercise 5 
	 
	Question 
	Question 
	Question 
	Question 

	Answer 
	Answer 

	Marks 
	Marks 
	[5] 

	Guidance 
	Guidance 

	Span

	1 
	1 
	1 

	س 
	س 

	1 
	1 

	Gap-fill 
	Gap-fill 
	No annotations are necessary. Enter 1, 0 or NR as appropriate. Ignore misspellings. 
	 
	Note: 
	Grammatically, all options are possible. Factually, only one option is correct for each stem. Options د (d) and س (f) act as ‘distracters’ for 1 and 5 respectively. 

	Span

	2 
	2 
	2 

	ب 
	ب 

	1 
	1 

	Span

	3 
	3 
	3 

	د 
	د 

	1 
	1 

	Span

	4 
	4 
	4 

	ط 
	ط 

	1 
	1 

	Span

	5 
	5 
	5 

	ر 
	ر 

	1 
	1 

	Span


	 
	Task/Exercise 6 
	 
	Question 
	Question 
	Question 
	Question 

	Answer 
	Answer 

	Marks 
	Marks 
	[5] 

	Guidance 
	Guidance 

	Span

	a 
	a 
	a 

	آب نکرد گرم -فلا 
	آب نکرد گرم -فلا 

	1 
	1 

	Sentence completion 
	Sentence completion 
	Marks entered individually. No need for  
	annotation. Enter 1, 0 or NR as appropriate. 

	Span

	b 
	b 
	b 

	.میکن نیشام وارد گرم آب -ب اسبننام لحم در رانهای از /.کرد ارزان را آن -پ 
	.میکن نیشام وارد گرم آب -ب اسبننام لحم در رانهای از /.کرد ارزان را آن -پ 

	1 
	1 

	Span

	c 
	c 
	c 

	.داد کاهش را قبر حسابتروص لغبم/.کرد فادهتاس 
	.داد کاهش را قبر حسابتروص لغبم/.کرد فادهتاس 

	1 
	1 

	Span

	d 
	d 
	d 

	.ندکمی کمک درآمد کم مردم به -ت 
	.ندکمی کمک درآمد کم مردم به -ت 
	.است اعیمتجا تلعدا تهج رد- 

	1 
	1 
	1 

	Span


	 
	 
	 
	 
	Task/Exercise 7 
	 
	Task specific guidance 
	 
	 Each question will be scanned in individually (questions with more than one element will appear twice/three times as appropriate). 
	 Each question will be scanned in individually (questions with more than one element will appear twice/three times as appropriate). 
	 Each question will be scanned in individually (questions with more than one element will appear twice/three times as appropriate). 


	 
	 Familiarize yourself with the text and have a copy to hand so that you can easily spot instances of lifting from the original. The text will not appear on the screen. 
	 Familiarize yourself with the text and have a copy to hand so that you can easily spot instances of lifting from the original. The text will not appear on the screen. 
	 Familiarize yourself with the text and have a copy to hand so that you can easily spot instances of lifting from the original. The text will not appear on the screen. 


	 
	 Go through all the responses and assess every question for comprehension. 
	 Go through all the responses and assess every question for comprehension. 
	 Go through all the responses and assess every question for comprehension. 


	 
	a. Marks are awarded on a point by point basis, according to the mark scheme. 
	a. Marks are awarded on a point by point basis, according to the mark scheme. 
	a. Marks are awarded on a point by point basis, according to the mark scheme. 


	 
	b. Minimal (additional) irrelevance can be ignored BUT mindless copying (often long chunks) results in no marks for comprehension or QoL 
	b. Minimal (additional) irrelevance can be ignored BUT mindless copying (often long chunks) results in no marks for comprehension or QoL 
	b. Minimal (additional) irrelevance can be ignored BUT mindless copying (often long chunks) results in no marks for comprehension or QoL 


	 
	c. For comprehension / content, remember that you are a “sympathetic native speaker / sympathetic examiner”. If language interferes slightly but it is clear that the candidate has understood, give the mark for content / comprehension (unless there is ambiguity or it is gibberish). Limited ability to use language will be reflected in the mark awarded under grid C2. If appropriate, candidates may answer with single words / short phrases. 
	c. For comprehension / content, remember that you are a “sympathetic native speaker / sympathetic examiner”. If language interferes slightly but it is clear that the candidate has understood, give the mark for content / comprehension (unless there is ambiguity or it is gibberish). Limited ability to use language will be reflected in the mark awarded under grid C2. If appropriate, candidates may answer with single words / short phrases. 
	c. For comprehension / content, remember that you are a “sympathetic native speaker / sympathetic examiner”. If language interferes slightly but it is clear that the candidate has understood, give the mark for content / comprehension (unless there is ambiguity or it is gibberish). Limited ability to use language will be reflected in the mark awarded under grid C2. If appropriate, candidates may answer with single words / short phrases. 


	 
	 Annotations: 
	 Award 1, 0 or NR without annotation. 
	 Award 1, 0 or NR without annotation. 
	 Award 1, 0 or NR without annotation. 

	 Use a tick (
	 Use a tick (
	 Use a tick (
	Span
	) to indicate a mark awarded on any question where the answer is more than one mark. 


	 Use a cross (x) when a word in the response invalidates an otherwise acceptable answer. 
	 Use a cross (x) when a word in the response invalidates an otherwise acceptable answer. 

	 Even if the answer is lifted verbatim from the text, as long as it is a direct answer, award the comprehension mark but highlight and exclude from Quality of Language assessment. 
	 Even if the answer is lifted verbatim from the text, as long as it is a direct answer, award the comprehension mark but highlight and exclude from Quality of Language assessment. 


	 
	 
	Task/Exercise 7 
	 
	Question 
	Question 
	Question 
	Question 

	Answer 
	Answer 

	Marks 
	Marks 
	[10] 

	Guidance 
	Guidance 

	Span

	a 
	a 
	a 

	.است بشر فادهتاس مورد رژینا ترین مهم /است آن اساسی ازین  :لاف 
	.است بشر فادهتاس مورد رژینا ترین مهم /است آن اساسی ازین  :لاف 

	1 
	1 

	صنعتی پیشرفت زانیم 
	صنعتی پیشرفت زانیم 
	تولیدی  برق  زانیم  با ابلق.دارد   قیمتسم   طهبرا ستین لبوق 

	Span

	b 
	b 
	b 

	.ندریگ می اندازه را تولیدی قبر زانیم :ب 
	.ندریگ می اندازه را تولیدی قبر زانیم :ب 

	1 
	1 

	 
	 

	Span

	c 
	c 
	c 

	سازیافض / ینیپا متهاییق ندنما عواملی ریتأث / قبر تسدر مصرف ایهشور :پ 
	سازیافض / ینیپا متهاییق ندنما عواملی ریتأث / قبر تسدر مصرف ایهشور :پ 
	برق مصرف دادن شهکا ایهشرو /فرهنگی 

	1 
	1 

	 
	 

	Span

	d 
	d 
	d 

	هنخا ازمول برق فرمص زانیم از لاعطا :ت 
	هنخا ازمول برق فرمص زانیم از لاعطا :ت 

	1 
	1 

	 
	 

	Span

	e 
	e 
	e 

	برق مصرف هشکا :ث 
	برق مصرف هشکا :ث 
	)یگدنز( نهیهز آمدن ینیپا 

	1 
	1 
	1 

	 
	 

	Span

	f 
	f 
	f 

	باشد ما ازین با بسانتم امگر تولید مجح :ج 
	باشد ما ازین با بسانتم امگر تولید مجح :ج 

	1 
	1 

	 
	 

	Span

	g 
	g 
	g 

	هناخکار به ینف خسارت   :چ 
	هناخکار به ینف خسارت   :چ 
	دیلوت کاهش 
	)امشدهمت( متیق لرفتنابا 

	1 
	1 
	1 
	1 

	 
	 

	Span


	 
	Task/Exercise 8: Transfer of Meaning 
	 
	Question 
	Question 
	Question 
	Question 

	Answer 
	Answer 

	Marks 
	Marks 
	[10] 

	Guidance 
	Guidance 

	Span

	TR
	Content 
	Content 

	Levels of response 
	Levels of response 

	Span

	1 
	1 
	1 

	بار اولین برای شیپ دهه ود    ابیرتق  
	بار اولین برای شیپ دهه ود    ابیرتق  
	Almost in 2 previous decades for the first time 

	2 
	2 

	Award two marks per translated section according to the grid below. This grid assesses Transfer of Meaning into English. Note that this grid integrates Quality of Written Communication Strand (i) descriptors. 
	Award two marks per translated section according to the grid below. This grid assesses Transfer of Meaning into English. Note that this grid integrates Quality of Written Communication Strand (i) descriptors. 
	 
	Exceptional responses and marks to award: 
	 
	1. Candidates may answer in faultless English but may not transfer meaning accurately. Award either 0 or 1 mark, depending on level of inaccuracy in meaning. 
	1. Candidates may answer in faultless English but may not transfer meaning accurately. Award either 0 or 1 mark, depending on level of inaccuracy in meaning. 
	1. Candidates may answer in faultless English but may not transfer meaning accurately. Award either 0 or 1 mark, depending on level of inaccuracy in meaning. 


	* 
	2. The transfer of meaning is accurate but contains significant spelling and/or grammar errors. Award 0 or 1 mark, depending on level of inaccuracy in English. 
	2. The transfer of meaning is accurate but contains significant spelling and/or grammar errors. Award 0 or 1 mark, depending on level of inaccuracy in English. 
	2. The transfer of meaning is accurate but contains significant spelling and/or grammar errors. Award 0 or 1 mark, depending on level of inaccuracy in English. 



	GRID H.2 TRANSFER OF MEANING 
	GRID H.2 TRANSFER OF MEANING 
	 
	2 
	Accurate transfer of meaning. Faultless or virtually faltless grammar, punctuation and spelling in English. 
	 
	1 
	Inconsistent transfer of meaning. Mostly accurate but there are errors and/or missed details. There are instances of error in grammar, punctuation and spelling in English. 
	 
	0 
	Very limited transfer of meaning. A substantial number of elements misunderstood or missing. Significant error in grammar, punctuation and spelling in English. 

	Span

	2 
	2 
	2 

	مرز یورسپ یلحم انییاتسور از یکی 
	مرز یورسپ یلحم انییاتسور از یکی 
	.ابدیدرمی را چهایدر لحسا 
	One of the villagers realized the rolling back the lake beach 

	2 
	2 

	Span

	3 
	3 
	3 

	و رتم صد آب که شدم متوجه ابتدا ویدگمی وا 
	و رتم صد آب که شدم متوجه ابتدا ویدگمی وا 
	نشست بعق رتم ستیود کم کم 
	He says at first I understand that water went back for 100 meters and then 200 meters 

	2 
	2 

	Span

	4 
	4 
	4 

	.یدمدیمن را لحسا خط ریگد ،یتدم از پس متخدو مشچ دریاچه به چهره انمز آن از 
	.یدمدیمن را لحسا خط ریگد ،یتدم از پس متخدو مشچ دریاچه به چهره انمز آن از 
	After a while, I couldn’t see the beach. After that, no matter how long I stared at the lake that 

	2 
	2 

	Span

	5 
	5 
	5 

	رگدی و بود ایدهفیب ،برگردد ما به دیشا که 
	رگدی و بود ایدهفیب ،برگردد ما به دیشا که 
	تبرنگش 
	It might come back, it was hopeless and it never come 

	2 
	2 

	Span


	 
	Task/Exercise 9 
	 
	Question 
	Question 
	Question 
	Question 

	Answer 
	Answer 

	Marks 
	Marks 
	[5] 

	Guidance 
	Guidance 

	Span

	a 
	a 
	a 

	آبهای سوی به /.است شده کم بسیار آن آب :لاف 
	آبهای سوی به /.است شده کم بسیار آن آب :لاف 
	.است شده لیدبت ریکو هب /.روند می رتسرشار 

	1 
	1 

	.نیست قبول قابل دازدنا می خطر به را منطقه 
	.نیست قبول قابل دازدنا می خطر به را منطقه 
	 

	Span

	b 
	b 
	b 

	در لمینگوفا های دسته /.است دهشمی ینیراتکش :ب 
	در لمینگوفا های دسته /.است دهشمی ینیراتکش :ب 
	.نددوب ازوپر حلا 

	1 
	1 

	Span

	c 
	c 
	c 

	دریاچه شدن خشک )تعل( یشهیر که دمبفه :پ 
	دریاچه شدن خشک )تعل( یشهیر که دمبفه :پ 
	را غووضم/.شود ضرحمست عهجاف نیا یاندازه /.ستیچ 
	.کند بلاند را لهئسم نیا/ .کند بیای شهیر 

	1 
	1 

	Span

	d 
	d 
	d 

	.است مضر / کرده کم را آب :ت 
	.است مضر / کرده کم را آب :ت 
	از یکی /.تندسه آب ندمازین که هدش یعاینص ادیجا باعث 
	.درب یاد از یدابن /است چهایدر شدن خشک لدلای 

	1 
	1 

	Span

	e 
	e 
	e 

	می نیب از را بشری اتیح /ودشمی ودبان شدوخ :ث 
	می نیب از را بشری اتیح /ودشمی ودبان شدوخ :ث 
	.برد 

	1 
	1 

	Span


	 
	 
	Task/Exercise 10 
	 
	Question 
	Question 
	Question 
	Question 

	Answer 
	Answer 

	Marks 
	Marks 
	[7] 

	Guidance 
	Guidance 

	Span

	a 
	a 
	a 

	و آب دلایل به جا رییتغ / یندایم رگدی جای از که :لاف 
	و آب دلایل به جا رییتغ / یندایم رگدی جای از که :لاف 
	ریگد جای به دوخ تنوسک محل از که یانگپرند /اوه 
	ناگپرند ندکر کوچ /ندور می 

	1 
	1 

	Multi-choice 
	Multi-choice 
	 
	Marks entered individually. No need for annotation. Enter 1, 0 or NR as appropriate. 

	Span

	b 
	b 
	b 

	/نمیکنند تکحر / ریگ گل در :ب 
	/نمیکنند تکحر / ریگ گل در :ب 

	1 
	1 

	Span

	c 
	c 
	c 

	روی بر  /  بالای در :پ 
	روی بر  /  بالای در :پ 

	1 
	1 

	Span

	d 
	d 
	d 

	/است شده خشک دریاچه بآ /شده لیتبد ریکو به اچهدری :ت 
	/است شده خشک دریاچه بآ /شده لیتبد ریکو به اچهدری :ت 

	1 
	1 

	Span

	e 
	e 
	e 

	یهدریاچ شدن کخش /دهننک ودبنا رایبس لکمش / بد خیلی ربخ/اقفتا :ث 
	یهدریاچ شدن کخش /دهننک ودبنا رایبس لکمش / بد خیلی ربخ/اقفتا :ث 
	هیمارو 

	1 
	1 

	Span

	f 
	f 
	f 

	/ دنکر زنده را دریاچه :ج 
	/ دنکر زنده را دریاچه :ج 

	1 
	1 

	Span

	g 
	g 
	g 

	دردا نیاز زیاد بآ به که یعیصنا :چ 
	دردا نیاز زیاد بآ به که یعیصنا :چ 

	1 
	1 

	Span


	 
	 
	Task11 
	 
	Task specific guidance 
	 Each question will be scanned in individually (questions with more than one element will appear twice/three times as appropriate). 
	 Each question will be scanned in individually (questions with more than one element will appear twice/three times as appropriate). 
	 Each question will be scanned in individually (questions with more than one element will appear twice/three times as appropriate). 

	 Familiarize yourself with the text and have a copy to hand so that you can easily spot instances of lifting from the original. The text will not appear on the screen. 
	 Familiarize yourself with the text and have a copy to hand so that you can easily spot instances of lifting from the original. The text will not appear on the screen. 

	 Go through all the responses and assess every question for comprehension. 
	 Go through all the responses and assess every question for comprehension. 


	 
	d. Marks are awarded on a point by point basis, according to the mark scheme. 
	d. Marks are awarded on a point by point basis, according to the mark scheme. 
	d. Marks are awarded on a point by point basis, according to the mark scheme. 

	e. Minimal (additional) irrelevance can be ignored BUT mindless copying (often long chunks) results in no marks for comprehension or QoL 
	e. Minimal (additional) irrelevance can be ignored BUT mindless copying (often long chunks) results in no marks for comprehension or QoL 

	f. For comprehension / content, remember that you are a “sympathetic native speaker / sympathetic examiner”. If language interferes slightly but it is clear that the candidate has understood, give the mark for content / comprehension (unless there is ambiguity or it is gibberish). Limited ability to use language will be reflected in the mark awarded under grid C2. If appropriate, candidates may answer with single words / short phrases. 
	f. For comprehension / content, remember that you are a “sympathetic native speaker / sympathetic examiner”. If language interferes slightly but it is clear that the candidate has understood, give the mark for content / comprehension (unless there is ambiguity or it is gibberish). Limited ability to use language will be reflected in the mark awarded under grid C2. If appropriate, candidates may answer with single words / short phrases. 


	 
	 Annotations: 
	 Award 1, 0 or NR without annotation. 
	 Award 1, 0 or NR without annotation. 
	 Award 1, 0 or NR without annotation. 

	 Use a tick (
	 Use a tick (
	 Use a tick (
	Span
	) to indicate a mark awarded on any question where the answer is more than one mark. 



	 
	 Use a cross (x) when a word in the response invalidates an otherwise acceptable answer. 
	 Use a cross (x) when a word in the response invalidates an otherwise acceptable answer. 
	 Use a cross (x) when a word in the response invalidates an otherwise acceptable answer. 

	 Even if the answer is lifted verbatim from the text, as long as it is a direct answer, award the comprehension mark but highlight and exclude from Quality of Language assessment. 
	 Even if the answer is lifted verbatim from the text, as long as it is a direct answer, award the comprehension mark but highlight and exclude from Quality of Language assessment. 


	Task/Exercise 11 
	 
	Question 
	Question 
	Question 
	Question 

	Answer 
	Answer 

	Marks 
	Marks 
	[10] 

	Guidance 
	Guidance 

	Span

	a 
	a 
	a 

	هیومار آبهای روی اریوس یتکش :لاف 
	هیومار آبهای روی اریوس یتکش :لاف 
	رجاهم انگندرپ دستههای دنید 

	1 
	1 
	1 

	 
	 

	Span

	b 
	b 
	b 

	کرد؟ بینی پیش /دانست؟ شیپ از دشیم را چهایدر شدن خشک :ب 
	کرد؟ بینی پیش /دانست؟ شیپ از دشیم را چهایدر شدن خشک :ب 
	؟دوب شگیرییپ لبقا /گرفت؟ دشمی را ندش خشگ جلوی 
	؟دنگردارب را چهایدر انوت می ایآ / رد؟اد ودجو یلح راه 

	1 
	1 
	1 
	1 

	 
	 

	Span

	c 
	c 
	c 

	.شود رتهب یطاشر دننکیمن رکف / ندارند امیدی چندان :1 :پ 
	.شود رتهب یطاشر دننکیمن رکف / ندارند امیدی چندان :1 :پ 
	 
	/.رددگبر تهشگذ حطس به آب ستین وملعم / .تاس شده رید چون کرد وانتنمی یکار رگدی :2 
	.شدکمی لوط دهه چندین / است بالا آن نهیهز 

	1 
	1 
	 
	2 

	 
	 

	Span

	d 
	d 
	d 

	ولی ودشمی هوا و بآ رییغت ثعبا مقداری / .ستین لیدل تنها ولی داشته یرثتأ راناب ودبکم / اوه شدن گرم :ت 
	ولی ودشمی هوا و بآ رییغت ثعبا مقداری / .ستین لیدل تنها ولی داشته یرثتأ راناب ودبکم / اوه شدن گرم :ت 
	.ستین لیدل اهنت 

	1 
	1 

	 
	 

	Span

	e 
	e 
	e 

	.دوشمی یاچهرد به انهخرود آب تنخری عنما چون :ث 
	.دوشمی یاچهرد به انهخرود آب تنخری عنما چون :ث 

	1 
	1 

	 
	 

	Span


	 
	 
	 Assessing Quality of Language across Section B 
	 Assessing Quality of Language across Section B 
	 Assessing Quality of Language across Section B 

	a. You will get a separate screen which will be the whole page for exercise 4, 5, 6, 7, 9, 10 
	a. You will get a separate screen which will be the whole page for exercise 4, 5, 6, 7, 9, 10 


	and 11 (unannotated). Read all the answers again. You may use the green L marking tool to highlight good language to assist you in the application of Grid C.2. but it is not essential. 
	b. Apply Grid C.2 and enter the mark. 
	b. Apply Grid C.2 and enter the mark. 
	b. Apply Grid C.2 and enter the mark. 

	c.  PE to provide specific guidance on which exercises in Section B will provide best evidence for Quality of Language. 
	c.  PE to provide specific guidance on which exercises in Section B will provide best evidence for Quality of Language. 


	 
	Table
	TR
	TD
	Span
	GRID C.2 

	TD
	Span
	QUALITY OF LANGUAGE – ACCURACY 
	10 marks AO3 

	Span

	9-10 
	9-10 
	9-10 

	Characterised by a high and consistent level of accuracy in use of complex structures, although there may be some errors. 
	Characterised by a high and consistent level of accuracy in use of complex structures, although there may be some errors. 

	Span

	7-8 
	7-8 
	7-8 

	Language generally accurate. Shows a sound grasp of AS (and/or A2) structures, as appropriate. Generally correct use of complex structures. Tenses and agreements good, 
	Language generally accurate. Shows a sound grasp of AS (and/or A2) structures, as appropriate. Generally correct use of complex structures. Tenses and agreements good, 
	although there may be some inconsistency and errors in more complex areas. 

	Span

	5-6 
	5-6 
	5-6 

	Shows evidence of fair understanding of grammatical usage. Generally accurate use of simple sentence structures. Some correct use of complex sentence structures. The 
	Shows evidence of fair understanding of grammatical usage. Generally accurate use of simple sentence structures. Some correct use of complex sentence structures. The 
	performance is likely to be patchy and inconsistent. 

	Span

	3-4 
	3-4 
	3-4 

	Evidence of gaps in basic grammar. Frequent errors of an elementary kind (endings, verb forms, gender of common nouns, adjectival agreements) but evidence of correct use of 
	Evidence of gaps in basic grammar. Frequent errors of an elementary kind (endings, verb forms, gender of common nouns, adjectival agreements) but evidence of correct use of 
	simple sentence structures. Vocabulary and structures may be quite strongly influenced by the candidate’s first language. 

	Span

	0-2 
	0-2 
	0-2 

	Little evidence of grammatical awareness. Persistent, serious and elementary errors 
	Little evidence of grammatical awareness. Persistent, serious and elementary errors 
	(endings, verb forms, gender of common nouns). Frequent first language interference. 

	Span


	Task specific guidance 
	 
	Mark one essay using the grids N, O, C.2 and F.2. 
	 
	If a candidate has written more than one essay mark both essays in the normal way but enter the mark for the essay which has earned most marks over all. 
	 
	Question 
	Question 
	Question 
	Question 

	Indicative Content 
	Indicative Content 

	Marks 
	Marks 

	Guidance 
	Guidance 

	Span

	Task 12- 
	Task 12- 
	Task 12- 
	19 

	No Indicative Content – personal response 
	No Indicative Content – personal response 

	[25] 
	[25] 

	Grid N guidance 
	Grid N guidance 
	 
	3–4 – No specific example from TL = cap 4 
	 
	5–6 – Demonstration of originality and/or imagination 
	– applies mainly to imaginative 
	 
	7–8 – Imaginative and/or original response to task – applies mainly to imaginative 
	 
	Grid O guidance 
	 
	6–9 – Straight narration = more 6/7 Evidence of some argument = more 8/9 

	Span


	 
	Task/Exercise 12-19 – Language (QoL) – Grids C.2 and F.2: [20 marks] 
	 
	 
	Question 
	Question 
	Question 
	Question 

	Answer 
	Answer 

	Marks 
	Marks 

	Guidance 
	Guidance 

	Span

	Task 12- 
	Task 12- 
	Task 12- 
	19 

	Assess for Quality of Language using Grids C.2 and F.2 
	Assess for Quality of Language using Grids C.2 and F.2 
	Appendix 1 

	[20] 
	[20] 

	Read the whole response again and assess for 
	Read the whole response again and assess for 
	Range (Grid F.2) first – i.e. vocabulary and structures. Then assess for Accuracy (Grid C.2). Key words have been highlighted in the grids below. Ignore final sentence of 3-4 band in Grid C.2, because vocabulary and structures have already been assessed under Grid F.2. If you wish, you may use the underlining tool (--) to show language errors if you find it makes it easier to apply Grid C.2, but it is not essential. Enter your mark. 
	 
	Grid C.2 guidance 
	0–2 – Errors ([e.g.] endings, verb forms, gender of common nouns). 
	Frequent first [= other] language interference. 
	3–4 – Errors ([e.g.] endings, verb forms, gender of common nouns, adjectival 
	agreements). 
	Candidate’s first [= other] language. 
	Meaning may be unclear; more wrong than right. 
	5–6 – Wrong/right = 50/50 
	7–8 – More right than wrong. 
	 
	Grid F.2 guidance 
	 
	5–6 – [A range of] syntax and sentence structures appropriate to the [register of the] task. 
	7–8 – Effective = good. 
	Reads easily. 
	9–10 – idiom ≠ idioms. 

	Span


	 
	APPENDIX 1 
	 
	Table
	TR
	TD
	Span
	GRID N 

	TD
	Span
	RELEVANCE AND POINTS OF VIEW 
	10 marks AO2  

	 
	 

	TD
	Span
	GRID O 

	TD
	Span
	STRUCTURE AND ANALYSIS 
	15 marks AO2  

	Span

	 
	 
	 

	 
	 

	 
	 

	 
	 

	 
	 

	Span

	9–10 
	9–10 
	9–10 

	Consistently relevant information that supports points of view and opinions. Shows genuine insight in responding to the task. 
	Consistently relevant information that supports points of view and opinions. Shows genuine insight in responding to the task. 

	 
	 

	13–15 
	13–15 

	The response displays genuine control and clarity. A very well- developed argument. Confident ability to develop an argument, analyse and evaluate, and draw conclusions. 
	The response displays genuine control and clarity. A very well- developed argument. Confident ability to develop an argument, analyse and evaluate, and draw conclusions. 

	Span

	7–8 
	7–8 
	7–8 

	Relevant information that responds to the requirements of the task and is used to support points of view and opinions. Produces an imaginative and/or original response to the task. 
	Relevant information that responds to the requirements of the task and is used to support points of view and opinions. Produces an imaginative and/or original response to the task. 

	 
	 

	10–12 
	10–12 

	Coherently structured and organised response. Points of view are linked in a logical sequence. Able to develop an argument, analyse and evaluate, and draw conclusions. 
	Coherently structured and organised response. Points of view are linked in a logical sequence. Able to develop an argument, analyse and evaluate, and draw conclusions. 

	Span

	5–6 
	5–6 
	5–6 

	The information given is mainly relevant to the task. Points of view and opinions are generally supported by some factual evidence. May demonstrate some originality and/or imagination. 
	The information given is mainly relevant to the task. Points of view and opinions are generally supported by some factual evidence. May demonstrate some originality and/or imagination. 

	 
	 

	6–9 
	6–9 

	Structured and organised response. Points of view are mostly linked in a logical sequence. Shows some ability to develop an argument, analyse and evaluate and draw conclusions. 
	Structured and organised response. Points of view are mostly linked in a logical sequence. Shows some ability to develop an argument, analyse and evaluate and draw conclusions. 

	Span

	3–4 
	3–4 
	3–4 

	Includes some relevant information 
	Includes some relevant information 
	but does not always address the requirements of the task. May have some difficulty in expressing points 
	of view and/or narrating events and/or communicating factual 
	information. 

	 
	 

	3–5 
	3–5 

	Shows some ability to structure 
	Shows some ability to structure 
	and organise the response. Limited ability to develop an argument, analyse and evaluate, and draw conclusions. 

	Span

	0–2 
	0–2 
	0–2 

	The response to the task is likely to be very short and/or irrelevant and/or very superficial. 
	The response to the task is likely to be very short and/or irrelevant and/or very superficial. 

	 
	 

	0–2 
	0–2 

	Random organisation of the response. Limited attempt to develop an argument, analyse and evaluate, and draw conclusions. 
	Random organisation of the response. Limited attempt to develop an argument, analyse and evaluate, and draw conclusions. 

	Span


	 
	 
	Table
	TR
	TD
	Span
	GRID C.2 

	TD
	Span
	QUALITY OF LANGUAGE (ACCURACY) 
	10 marks AO3 

	 
	 

	TD
	Span
	GRID F.2 

	TD
	Span
	QUALITY OF LANGUAGE (RANGE) 
	10 marks AO3 

	Span

	 
	 
	 

	 
	 

	 
	 

	 
	 

	 
	 

	Span

	9–10 
	9–10 
	9–10 

	Characterised by a high and consistent level of accuracy in use of complex structures, although there may be some errors. 
	Characterised by a high and consistent level of accuracy in use of complex structures, although there may be some errors. 

	 
	 

	9–10 
	9–10 

	Effective and confident use of a wide range of vocabulary and idiom  with a variety of complex sentence structures. 
	Effective and confident use of a wide range of vocabulary and idiom  with a variety of complex sentence structures. 

	Span

	7–8 
	7–8 
	7–8 

	Language generally accurate. Shows a sound grasp of AS and/or A2 structures, as appropriate. Generally correct use of complex structures. Tenses and agreements good, although there may be some inconsistency and errors in more complex areas. 
	Language generally accurate. Shows a sound grasp of AS and/or A2 structures, as appropriate. Generally correct use of complex structures. Tenses and agreements good, although there may be some inconsistency and errors in more complex areas. 

	 
	 

	7–8 
	7–8 

	Effective use of a range of vocabulary and structures appropriate to the task, with little repetition. A positive attempt to introduce variety and to use a range of complex sentence structures (though not always able to maintain correct usage). 
	Effective use of a range of vocabulary and structures appropriate to the task, with little repetition. A positive attempt to introduce variety and to use a range of complex sentence structures (though not always able to maintain correct usage). 

	Span

	5–6 
	5–6 
	5–6 

	Shows evidence of fair understanding of grammatical usage. Generally accurate use of simple sentence structures. Some correct use of complex sentence  structures. The performance is likely to be patchy and inconsistent. 
	Shows evidence of fair understanding of grammatical usage. Generally accurate use of simple sentence structures. Some correct use of complex sentence  structures. The performance is likely to be patchy and inconsistent. 

	 
	 

	5–6 
	5–6 

	Attempts to extend the range of vocabulary, though still rather repetitive. Attempts to use more complex language with some success in producing a range of syntax and sentence structures appropriate to the task. 
	Attempts to extend the range of vocabulary, though still rather repetitive. Attempts to use more complex language with some success in producing a range of syntax and sentence structures appropriate to the task. 

	Span

	3–4 
	3–4 
	3–4 

	Evidence of gaps in basic grammar. Frequent errors of an elementary kind (endings, verb forms, gender of common nouns, adjectival agreements) but evidence of correct use of simple sentence structures. Vocabulary and structures may be quite strongly influenced by the candidate’s first language. 
	Evidence of gaps in basic grammar. Frequent errors of an elementary kind (endings, verb forms, gender of common nouns, adjectival agreements) but evidence of correct use of simple sentence structures. Vocabulary and structures may be quite strongly influenced by the candidate’s first language. 

	 
	 

	3–4 
	3–4 

	Use of a restricted range of vocabulary and structures. Frequent repetition of the same words and phrases. Some attempt (not necessarily successful) at the use of more complex sentence structures. 
	Use of a restricted range of vocabulary and structures. Frequent repetition of the same words and phrases. Some attempt (not necessarily successful) at the use of more complex sentence structures. 

	Span

	0–2 
	0–2 
	0–2 

	Little evidence of grammatical awareness. Persistent, serious and elementary errors (endings, verb forms, gender of common nouns). Frequent first language interference. 
	Little evidence of grammatical awareness. Persistent, serious and elementary errors (endings, verb forms, gender of common nouns). Frequent first language interference. 

	 
	 

	0–2 
	0–2 

	Only simple sentence patterns. Very limited vocabulary. Very limited range of structures. 
	Only simple sentence patterns. Very limited vocabulary. Very limited range of structures. 

	Span


	 
	 
	APPENDIX 2 
	 
	Transcripts of Listening Texts 
	 
	Task/Exercise 1 
	 
	 
	Figure
	 
	[SETTING: Monologue] (One Male voice) 
	 
	 
	Exercise 1: 
	 
	 
	. 
	لم
	لم
	مع
	 
	یک
	 
	داستان
	 

	 
	زور هی ،رانیا غرب اهایتسور از یکی در نه؟ یا یدنیش وخبر نیا ونمدنمی سر آمده تراشیده سر با معلم آقا دیدن که دبستان دوم لساک وزایمآ شندا نوشالاسیهکمهاز یکی موهای که بود یتدم تهبلا .ندرخواج بیاحس ،کلاس شهوگ زور به زور اونم ،نشتذا می وا سر به سر گاهی ها بچه .دوب ریخته 
	.دشمی رتریگ 
	 
	اون و من که گفت وا ،لمعم آقا سر یوم به تبنس اهبچه جکاوینک ابوج در ارهب ریزه می موهامون ونتزمس .میتهس اهدرخت و اهگل لثم امش همشاگردی اما .نشارتب ونشواموه برن استنوخ هم گهید رفن چند .دایم در ارهبود 
	که ها بچه ابوج در .هروخمی امسر نوزمست وت نوتسر که گفت نوشملعم امسر و تره گرم رانیگد از ونمبدن فرندو ام گفت کرده وکار نیا دشوخ چرا 
	.یدهمن ونمآزار 
	 
	از دست اگرداش ییهقب هم و شد رتهب بچه نوا یروحیه هم ،هعقاو نیا از بعد 
	.نتشابرد رشخسمت وآزار 
	 
	اریمبی یک از دشوبهب برای که بود ییداروها ،هچب نشد وم بی قتیقح تهبلا ور ردشگشا اریمبی هچرگا ،شوهبا ارگزموآ این کار .دوب شده زیوتج مبهم برای شد اخلاقی سدر هم و بود مفید وا روحی مایتلا برای هم ،درکن علاج 
	.بقیه 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	Task/Exercise 2 
	 
	Figure
	 
	[SETTING: CONVERSATION] 
	(Two female voices) 
	 
	 
	؟جنسیتی تک یا تلطخم مدارس 
	 
	 
	 
	 
	 
	 
	:2 ینرتم 
	 
	 
	م؟یندار طلتمخ مدارس رانیا در ما چرا -نازی 
	 
	هم ممرد از خیلی .هیتییجنس تک سرمدا بر روکش وزشیمآ استیس اساس .رهدا تلع چند -رحس هم غرب در که منک آوری یاد اموخمی من تازه .نتنیس نوا ارتساوخ یگفرهن و قادیتاع رظن از 
	.رناد سلیقه اختلاف عوموض این یهرابدر آموزشی صصینخمت که هیمدت 
	.اومده پیش یثبح ننیچ پیشرفته اینید در که منکمی تعجب -نازی کاهش تراخد سفن به ادمتاع طلتمخ مدارس در که هداد نونش اریمآ ایهیسبرر از بعضی -رحس 
	و هندامر 
	رتکم نننگرا 
	و دوننمی 
	نوشارباعت 
	به مهطل رو درس 
	نتگرف یدج پسرا و نهکمی پیدا 
	.انیب رظنبه ندمقدرت 
	هب توجه نهکمم هم لافخم جنس لبمقا در 
	ییامخودن مشکل نهاوجونو 
	یهمه 
	برای کلی طور به
	.بده قرار شعاعلاتتح درسو 
	با ،متگف که یبحثهای که دید و کرد بررسی باید ،بشه رفع هم ینکنو کلاتشم رانیا در اگر تازه 
	.نهکیم رتنیسنگ فرط کدوم به ور ترازو یکفه ،فلتخم اطقنم باورهای به هجتو 
	 
	هشیم مگه ؟هنوبم قیاب یطاشر نیمه رانیا در بهتره که ینکمی یریگیجهتن داری تو پس -نازی 
	نیست؟ هجامع از بخشی همدرس مگه .عیهومصن سازیاجد نیا د؟ید زاجم رشوپر از را زشومآ 
	برای .باشه پسرا و راتخد بین تفاهم و اختنش برای اعیماجت طیمح ینرتاسبنم نهوتمی مدرسه 
	بزرگترا ییامراهن با و نظر ریز پسرا و تراخد اون در که شهیم فراهم ییازندهسو سلام وج مثلا 
	.باشن داشته ریکفمه و اریکهم انکما 
	 
	و مشاهده دهه یندنچ یجهیتن ؛ستین ایهیپب میکنن رحطم غرب در که مییتلاکمش ،بوخ -رحس کنن طلتخم ور مدرسه انوبخ رانیا در اگه نمکمی رکف من .آماریه شهوپژ هیجتو لبقا مقدار وقف ایتیلاعف و حیتفر زنگ لثم دیگه ایتساع ولی باشه طلتخم درس کلاس که بدن یبیتتر رهتبه 
	.رهتبیش املعم ارتظن و رهتیمرس سکلا طیمح نوچ ؛باشه جدا برنامه 
	 
	ایهکلاس انتسلگنا در اه رسهدم از بعضی ،ینیع ؛مدهینش ورظن این لفاخ من    ادفاصت -نازی که نکب وفکرش .رمتقفاوم این با خودم من .هکرتمش گهید ایتساع یهمه و کردهن جدا ودرس ادجای به که ور طیحم نیا اگر !هشاب نهوپسر یا ونهرتخد فقط یشامن هوگر یا رسهدم رتارکس 
	.پردازهیم وشتخسار ندهیآ در جامعه ،مینکن ادجیا نایرا مدارس در ،میکنه کمک بهناجدو ادمتاع 
	 
	در میگم طقف .کنه عوشر مدارس از باید باشه رگن ندهیآ ادوبخ ییعهمجا اگه !مدار لوبق -رحس 
	!دز آب به دارگیب دیابن یممه نیا به لئمسا 
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